STAT 511 - 001
Hao Zhang

STAT 511 - 001
Hao Zhang

Homework 1 Solution
1. 44
a. range = 49.3 – 23.5 = 25.8
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	29.5
	-1.53
	2.3409
	870.25

	49.3
	18.27
	333.7929
	2430.49

	30.6
	-0.43
	0.1849
	936.36

	28.2
	-2.83
	8.0089
	795.24

	28.0
	-3.03
	9.1809
	784.00

	26.3
	-4.73
	22.3729
	691.69

	33.9
	2.87
	8.2369
	1149.21

	29.4
	-1.63
	2.6569
	864.36

	23.5
	-7.53
	56.7009
	552.25

	31.6
	0.57
	0.3249
	998.56
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1.51 
a. 
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b. If y = time in minutes, then y = cx where 
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2.2
a. Event A = { RRR, LLL, SSS }
b. Event B = { RLS, RSL, LRS, LSR, SRL, SLR }
c. Event C = { RRL, RRS, RLR, RSR, LRR, SRR }
d. Event D = { RRL, RRS, RLR, RSR, LRR, SRR, LLR, LLS, LRL, LSL, RLL, SLL, SSR, SSL, SRS, SLS, RSS, LSS }
e. Event D( contains outcomes where all cars go the same direction, or they all go different directions:
D( = { RRR, LLL, SSS, RLS, RSL, LRS, LSR, SRL, SLR }

Because Event D totally encloses Event C, the compound event C(D = D:

C(D = { RRL, RRS, RLR, RSR, LRR, SRR, LLR, LLS, LRL, LSL, RLL, SLL, SSR, SSL, SRS, SLS, RSS, LSS }

Using similar reasoning, we see that the compound event C(D = C:

C(D  = { RRL, RRS, RLR, RSR, LRR, SRR }

2.3
a. Event A = { SSF, SFS, FSS }
b. Event B = { SSS, SSF, SFS, FSS }
c. For Event C, the system must have component 1 working ( S in the first position), then at least one  of the other two components must work (at least one S in the 2nd and 3rd positions:  Event C = { SSS, SSF, SFS }
d. Event C( = { SFF, FSS, FSF, FFS, FFF }
Event A(C = { SSS, SSF, SFS, FSS }

Event A(C = { SSF, SFS }

Event B(C = { SSS, SSF, SFS, FSS }



Event B(C = { SSS SSF, SFS }
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